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QUESTION 1

A server is operating on the network 10.100/24. The BIG-IP device is operating on the 192.168.0.0/24 net. What is
required to enable the several and BIG-IP device to communicate properly? 

A. Firewall 

B. Switch 

C. Router 

D. Hub 

Correct Answer: C 

 

QUESTION 2

What is the correct procedure to comply with the recommendation? 

A. Download the product version image from ihealth f5 com 

B. Download the product version image from support 6 com 

C. Download the product version image from dovcentral f5.com 

D. Download the product version image from downloads f5.com 

Correct Answer: D 

 

QUESTION 3

What are the two primary functions of the OSI 7-layer model? (Choose two) 

A. to group communications into logical layers 

B. to define host-to-host communications 

C. to standardize HTTP communications between different vendors 

D. to go interoperability between products made by different vendors 

E. to define protocol behavior 
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Correct Answer: AE 

 

QUESTION 4

Which of the following are four of the security benefits of TMOS? (Choose four.) 

A. It verifies traffic based on antivirus signatures. 

B. It provides protection against DDoS. 

C. It uses SYN cookies and dynamic connection reapers. 

D. It supplies guidance for poorly developed applications. 

E. It denies all traffic that hasn\\'t been defined. 

F. It can hide confidential information from outbound traffic. 

Correct Answer: BCEF 

 

QUESTION 5

Where is connection mirroring configured? 

A. It an option within a TCP profile. 

B. It is an optional feature of each pool. 

C. It is not configured; it is default behavior. 

D. It is an optional feature of each virtual server. 

Correct Answer: D 

 

QUESTION 6

Which of the following are properties of an ASM logging profile? (Choose three.) 

A. storage type 

B. storage filter 

C. storage policy 

D. web application 

Correct Answer: AB 

 

QUESTION 7
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In order to ensure that a specific file type is never moved down to a secondary file tier, the administrator should: 

A. Set up an automated bot that accesses that file once a week. 

B. This is not possible on the ARX. 

C. Set a policy that the file type remains on primary storage. 

D. Instruct the end users to put the file in a non-tiered directory. 

Correct Answer: C 

 

QUESTION 8

ASM combined with LTM provides protection against: 

A. Layer 7 DoS attacks 

B. All of the above 

C. Layer 4 DoS attacks 

D. DDoS attacks 

Correct Answer: B 

 

QUESTION 9

Which three properties can be assigned to nodes? (Choose three.) 

A. ratio values 

B. priority values 

C. health monitors 

D. connection limits 

E. load balancing mode 

Correct Answer: ACD 

 

QUESTION 10

Select the two best questions you would use to ask your customer about their current web access management
solution. Select two. 

A. What impact are slow remote access connections having on productivity? 

B. Are you using Google multi-factor authentication? 
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C. Is user authentication data sitting on partner systems outside your control? 

D. Have you standardized on Androids or iPhones? 

E. How are you planning to extend Exchange to your mobile users? 

F. How do you think a global remote access deployment with integrated acceleration and availability services might
benefit your business? 

Correct Answer: AF 

 

QUESTION 11

What is one way that a application delivery controller lowers the CPU-load on web servers? 

A. use SSL termination at the application delivery controller 

B. make the application delivery controller function as a Firewall 

C. make the application delivery controller a member of both external and internal VLANs 

D. use cookie persistence on the application delivery controller 

Correct Answer: A 

 

QUESTION 12

Which Datalink sublayer has the primary funcl.cn of proving node lo node flow and error control? 

A. LLC 

B. ARP 

C. MAC 

D. UDP 

Correct Answer: A 

hltps://en wikipedia org/wiki/Logical_link_control 

 

QUESTION 13

Which two of the following are costs businesses may face in dealing with unstructured data? (Choose two.) 

A. Lost productivity due to server downtime 

B. Buying backup media 

C. Buying additional storage capacity 
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D. Paying to convert unstructured data into structured data 

Correct Answer: BC 

 

QUESTION 14

Which IP subnet mask can be used to send traffic to all network nodes? 

A. 192 168.0. 255/23 

B. 192. 168. 1. 11/31 

C. 172. 16. 1255/22 

D. 192. 168. 0. 11/30 

Correct Answer: D 

 

QUESTION 15

Which of the following protocol protections is not provided by the Protocol Security Manager? 

A. FTP 

B. SSH 

C. HTTP 

D. SMTP 

Correct Answer: B 
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